Model Multiple Choice Questions:

PC-7: Constitution of India Statutes, Service Regulations, including related accounts /audit
procedures (Railway Audit)

Question Number:1

What is the quantum of subsistence allowance payable to a Government servant under suspension
during the first three months

Teh TERT FHAART & g & 3Ieddid g did Alg & ek ¢ faaTg o= fir
HAET 47 § ?

Equal to leave salary admissible if he had been on half pay leave

A
TIIPR TR ddd o skIeR Il ag FUddeT GhreT U grar
Equal to leave salary admissible if he had been on earned leave

B
TIhR TR dded & &Y Ife gg Jfoid 37Thrr 9 gl
Equal to leave salary admissible if he had been on commuted leave

C
TIP3 dded & SRR TG g FUTAIOT 3GhreT 9T gidm d.
50% above leave salary admissible if he had been on half pay leave

D

TSR 31T ddsd & 50% 318 Ife ag 314 aaeT 319 9 gidr

Ans A

Question Number:2

Which article of the constitution provides about the time of holding election to fill vacancy in the office
of the president of India?

afaue & 8 3eeoe & UEuld & ug & R &1 e & for Ades &= &
TAT & TR H YIaYTT Har =T g ?

Article 56

3T : 56

S
Article 59

366 ;59

S
Article 62

3TTee ;62

o)
Article 63

HIBG © 63

Ans C

D



Question Number:3

Under which constitutional amendment 30% seats in village panchayats have been reserved for
women in India?

g Gfaer N gRT IH gargar # 30 gfaera @ Afganst & v 3wfaa
Fras g ?

70
A

70

71
B

71

73
C

73

74
D

74
Ans C

Question Number:4

How many tiers are there in Permanent Negotiating Machinery; in Railways?

Told & TYRY arar #AME & fhda TR E ?

2 tiers.
A

2 TN

3 tiers.
B

3TN

4 tiers
C

4 THX

6 tiers.
D

6 TN
Ans B

Question Number:5

Rajya Sabha in India consists of—

T AT & TEEAT dT 3TOHdH T&IAT §-

238 members
A
238 G

B 250 members



250 c&a

254 members

254 Ho&g

256 members

256 &g
Ans B



